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£ min

(mm)
(12) 12 40 13 20
(12) 12 40 13 20
8 8 15 13
(24) 20 40 13 20
(30) 30 60 20 25
8 8 15 13
( (12) 12 20 13
( (20) 15 30 13 1 (4 6 ) 3e
( (12) 12 20 13
( (80) 70 130 25 1 (8 12 ) 135 16.50
8 5 10 13
( (200)130 260 40 50
(15) 15 40 13 20
(35) 35 65 20 25
(12) 12 32 13 20
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42 033 10 2/min
19 067 10 600
P Q (6/min) | FE | Q (0/min) | FE(| Q (8/min) | F# | Q (¢/min) | F#K | Q (¢/min)
1 42 11 94 21 146 31 189 41 228
2 52 12 100 22 150 32 193 42 232
3 60 13 105 23 155 33 197 43 236
4 66 14 111 24 159 34 201 44 239
5 71 15 116 25 164 35 205 45 243
6 75 16 121 26 168 36 209 46 247
7 79 17 126 27 172 37 213 47 250
8 83 18 131 28 177 38 217 48 254
9 86 19 136 29 181 39 22 49 257
10 88 20 141 30 185 40 224 50 261
KEF ol UREORREAKEX, 320/mink LTHMhEDRRW,
26 036 30 £/min
15.2 051 31
AE] Q (8/min) | Afx| Q (0/min) | AFk| Q (0/min) | A$k| Q (¢/min) | A%| Q (2/min)
2 33 22 79 42 102 62 124 82 143
4 42 24 81 44 104 64 126 84 145
6 49 26 84 46 107 66 128 86 147
8 b4 28 86 48 109 68 130 88 149
10 59 30 88 50 111 70 132 90 150
12 63 32 89 52 114 72 134 92 152
14 67 34 91 b4 116 74 136 94 154
16 70 36 94 56 118 76 138 96 155
18 73 38 97 58 120 78 140 98 157
20 76 40 99 60 122 30 142 100 159

XA P Ik LIEOEREAARRIL, 320/mink LTHEDRL,
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3K 200 ¢/ 3.2
2K 200 ¢/ 2.5
350 ¢/ 1.0
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( )

(/)

200 4000/ 10 0.16 /
200 3500/ 15 |1 0.16 /
400 6000/ 10
60 1008/ 9 0.2 / 508/ 1008/
1
60 1008/ 03 / 508/ 1008/
1 01 /
1,500 3,5008/ 16
30 600/
500 6,0000/ 12
350 4500/ 12
500 8000/ 10
20 358/ 10
55 1308/
55 1308/
110 5300 10
/
20 5080/ 10
80 140¢/
20 30¢/ 10
15 300/ 10
70 1008/ 9 (
1 40 100/
2 4/ 9
25 400/ 14
0.2 0.3¢/
10€/1000 16
1,000
30/1000 16
1,000
100/ 2
258/ 6 0.4 |/
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50
75

50

0.01739-0.1087

(0.0126+ \/_
T 2
4
/sec
9.8 /sec?
3/sec

75

10.666 1.85 4.87 1.85

0.35464 063 054
0.27853 263 o054
/' x 1000

110
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13 20 25 40 50 75
90° 0.6 0.75 0.9 1.5 2.1 3.0
45° 0.36 0.45 0.54 0.9 1.2 1.8
0.9 1.2 1.5 2.1 3.0 4.5
0.18 0.24 0.27 0.45 0.6 0.9
0.12 0.15 0.18 0.30 0.39 0.63
4.5 6.0 7.5 13.5 16.5 24.0
) 1.2 1.6 2.0 3.1 4.0 5.7
2.2 4.4 4.6 7.8 8.8 16.5
3.0 8.0 12.0 20.0 25.0 40.0
3.0 8.0 8.0 17.0 20.0
0.3 0.5 0.5 0.7 1.4
90° 1.5
45°
0.5 0.5 0.5 1.0 1.0
0.5 0.5 0.5 1.0 1.0
2.4 3.6 4.5 6.6 8.4 12.0
0.5 0.5 1.0 1.0 1.0
1.38 2.18 3.00 5.47 8.00 | 14.11
21.1 22.8 40.2 | 49.7 58.0
9.8 16.0 31.4 86.3 | 106.6 | 138.1
8.2 9.8
38.2 44.2 73.8 94.0 91.2
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/ /
1
10 7/ 1 / 24
/h /
5 10

¢ 13 0.1 1.0 2.5 1.5 4.5 7 12 100
¢ 20 0.2 1.6 4 2.5 7 12 20 170
@ 25 0.23 2.5 6.3 4 11 18 30 260
¢ 40 0.5 4.0 10 6 18 30 50 420
¢ 50 1.25 17.0 50 30 87 140 250 2600
@75 2.5 27.5 78 47 138 218 390 4100
@ 100 | 4.0 44.0 125 74.5 218 345 620 6600

1 5 6 10 11 20

¢ 13 ¢ 20 ¢ 25

13 13
20

-28-




N D d 5/2

N D d
13 20 25 40 50 75 100
13 1.00
20 2.93 1.00
25 5.12 1.74 1.00
40 16.60 5.65 3.23 1.00
50 29.01 9.88 5.65 1.74 1.00
75 79.94 | 27.23 | 15.58 4.81 2.75 1.00
100 164.11 | 55.90 | 32.00 9.88 5.65 2.05 1.00
150 452.24 | 154.04 | 88.18 | 27.23 | 15.58 5.65 2.75
75 20 27.23
75 1 20 27.23
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mm

13

13

13

13

13

13

3
3

mm min

13 12 12 20
13 24 20 40
13 12 12 40
13 8 8 15
13 15 15 40
13 12 12 40

Q 12+24+12 488 min
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3LDK 40
0.2

01 =BT ¢ 13

HIVP ¢ 13 Bl ACE ERE=1.0m

1.4

1.4
HIVP ¢ 25

0.2

kbt 0 25 625 7L%0.6

¢ 25 [HAAAEE

JIREKHE ¢ 25 0.4

W\ 25 MR KEE
0.2 HIVP & ¢ :
14.6
TL¥ ¢ 25 0.3
HIVP ¢ 25
11.9
0.4
3LDK 2002/ x 3.2 [ x40 25,600 &/ 15
5/10
25,600 £ x 5/10 12,800 £
12,800 £ = 1000 12.8
2.0 X 4.0 X 2.0 16.00 12.80
2560 /
25.60 / 1.71 |/ 0.48 B/sec
/h /
1 1
/h 10 7/ 1 / 124 /
5 10
¢ 13 0.1 1.0 2.5 1.5 4.5 7 12 100
¢ 20 0.2 1.6 4 2.5 7 12 20 170
¢ 25 0.23 2.5 6.3 4 11 18 30 260
@ 40 0.5 4.0 10 6 18 30 50 420
@ 50 1.25 17.0 50 30 87 140 250 2600
® 75 2.5 27.5 78 47 138 218 390 4100
@ 100 4.0 44.0 125 74.5 218 345 620 6600

-31-

25




0.48 £ /sec

(mm) X m
¢ 25 1 x 0.5 0.5
¢ 25 12 x 0.9 10.8
¢ 25 1 x 8.0 8.0
¢ 25 1 x 12.0 12.0
® 25 1 x 1.5 15
¢ 25 1 x 0.27 0.27
® 25 1 x 7.5 75
Y ¢ 25 1 x 3.0 3.0
@ 25 1 x 22.8 22.8
45.9
112.27
L( ) 112.27m
+ x 1000
20m
m
{ 20 1.0 3.2 5.0 } 112.27 x 1000
96.1 %00
25mm 0.66 € /sec 0.48 € /sec
25mm
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1 2
20m
1F 8¢ min
1F 122 min
2F 122 min

5m

r7—RER
(&L= )

=2 Ak
L sl
H—=nrin g
(5 ier)

12 I/ min

N Aky T

29

R—NF
(1)
0.8
12\/min
HIVP #13

+#91.0m
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i R E R IR R (n) ; &
R‘Ffﬁ (D?%) 7k§:) zﬁ/iﬁs %E)E N %'— R %'_X SOIES L ; i G U M’j':]. PANT= 52, (Eg %%JE j}%g»;‘:
mm) | (¢/min) | (m/s m TLAR o | @ U | B [ LT ke A —# 1Ak ol | B (o] (n (%o) (m)
0. 75X 6= 7%
A~B | ¢20 32 1. 69 Jiog| 4.5 0.24 8.0 8.0 0.5 0.6 128.94| 178 | 5.16
B~( ¢ 20 20 1. 06 7.0 0.75 0. 24 7.99 79 0. 64
0.75%X2=
C~D| ¢20 12 0. 63 6.3 1.5 1.2 6.0 15.00| 33 0.50
D~E | ¢13 12 1.50 1.0 0.6 3:0 0.5 5.10 | 228 | 1.17
eat | 7.47
7.47
4.7 1.0 2.9 0.8
20.00-(7.47+4.70)=7.83 5.00

5.0m
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